All of these straight lines All of these straight lines

meet at one point. meet at one point.

What are its coordinates? What are its coordinates?

-1lx - 30y = -89 2x - 27y = -23

18x + 28y = 66 17x + 22y = 56

lex + 20y = 44 Sx + 20y = 38

30x - 12y = -bb 11x - 29y = -7

-18x + 16y = 66 -21x + 25y = -17

-27x - 13y = -12 -25x - 4y = -54

-3x + 1lly = 36 -3x + 21y = 15

15x - 3y = -24 11x - 1y = 21

sic 17 Sic 17
All of these straight lines All of these straight lines
meet at one point. meet at one point.

What are its coordinates? What are its coordinates?

-lx =- 25y = -74 2x = 17y = -13

28x + 6By = -10 14x + 29y = 57

3x + 24y = B9 5x + 28y = 38

12x - 17y = -B3 5x - 15y = -3

-29x + 26y = 107 -22x + 26y = -18

-29x - 23y = -40 -9x - 13y = -31

-3x + 27y = B4 -3x + 21y = 15

15x - 3y = -24 5x - 1y = 9

Sic 17 Slc 17



All of these straight lines All of these straight lines

meet at one point. meet at one point.

What are its coordinates? What are its coordinates?

-3x - 3y = 3 -3x - 8y = -23

13x + 28y = 17 19x + 16y = 7

5x + 24y = 33 3x + 16y = 35

16x - 5y = -38 6x - 27y = -126

-l6x + 24y = 96 -17x + 21y = 135

-9x - 12y = 3 -28x - 8y = 52

S5x + 26y = 67 3x + 20y = 89

2lx - 2y = -67 Ex - 4y = -34

slc 17 sic 17
All of these straight lines All of these straight lines
meet at one point. meet at one point.

What are its coordinates? What are its coordinates?

-3x - 1oy = -23 -3x - By = -15

3x + 26y = 43 10x + 13y = 22

8x + 7y = -10 29x + 6y = -63

26x - 3y = -84 2x - 13y = -58

-25x + 21y = 117 -23x + 9y = 105

-14x - 30y = -18 -3x - 28y = -95

-5x + 24y = 63 -3x + 27y = 117

3x - 2y = -13 4x - 4y = -28

Sic 17 Slc 17



All of these straight lines All of these straight lines

meet at one point. meet at one point.
What are its coordinates? What are its coordinates?
-lx - 30y = -89 2x - 10y = -6
3x + 25y = 712 4x + 30y = 38
26x + 28y = 58 2x + 23y = 27
ex - 3y = -15 14x - 24y = 4
-S9x + 27y = 90 -26x + 25y = -27
-10x - 8y = -14 -10x - 16y = -36
-3x + 4y = 15 -2x + 1By = 12
Sx - 3y = -18 4x - 1ly = 7
sic 17 Sic 17
All of these m._.w.Qmm_,.._. lines All of these m._._\.D@T._. lines
meet at one point. meet at one point.
What are its coordinates? What are its coordinates?
-3x = 29y = -49 -3x = 24y = -87
27x + 6y = -69 11x + 8y = -1
25x + 20y = -35 15x + 8y = -13
lex - 8y = -64 18x - 5y = -74
-20x + 23y = 106 -30x + 15y = 150
-4x - 14y = -16 -3x - 28y = -103
-2x + 2y = 10 -2x + 1lby = 70
3x - 2y = -13 29x - 4y = -103

Sic 17 Slc 17



All of these straight lines All of these straight lines

meet at one point. meet at one point.
What are its coordinates? What are its coordinates?
-lx - 4y = -11 2x - 18y = -14
3x + 29y = B4 2lx + 20y = B2
3x + 2y = 3 13x + 7y = 33
23x - 2y = -28 l6x - 29y = 3
-30x + 8y = 54 -4x + 20y = 12
-12x - 13y = -27 -8x - 19y = -35
-3x + 17y = 54 -2x + 25y = 21
9x - 3y = -18 12x - 1y = 23
sic 17 SiC 17
All of these m._.w.Qmm_,.._. lines All of these m._._\.D@T._. lines
meet at one point. meet at one point.
What are its coordinates? What are its coordinates?
-3x - 27y = -3 -3x = 22y = -79
4x + 3y = -b 15x + 23y = 47
14x + 30y = 18 ex + 29y = S8
18x - 19y = -92 15x - 9y = -81
-8x + 27y = 78 -27x + 8y = 113
-25x - 23y = 29 -10x - 17y = -38
dx + 2y = 16 -2x + 2%y = 122
30x - 2y = -94 10x - 4y = -46

Sic 17 Slc 17



All of these straight lines All of these straight lines

meet at one point. meet at one point.
What are its coordinates? What are its coordinates?
Sx - 22y = 217 3x - 27y = -180
3x + 12y = 147 26x + 12y = 162
7x + 8y = 123 10x + 23y = 191
27x - 12y = 3 16x - 30y = -162
29x + 7y = -68 Jx + 22y = 133
-22x - 20y = -330 -21x - 14y = -l161
4x + 260y = 266 S5x + 3y = 6
5x - 11y = -96 22 x - 7y = 17
SIC_17 sic 17
All of these straight lines All of these straight lines
meet at one point. meet at one point.
What are its coordinates? What are its coordinates?
5x - 9y = -74 3x - 30y = -201
11x + 25y = 330 4x + 3y = 33
18x + 18y = 288 12x + 20y = 176
25x - 24y = -139 3x - 8y = -47
26x + 26y = 156 6x + 22y = 136
-30x - 30y = -480 -6x - 26y = -200
2x + 11y = 111 -3x + 25y = 166
19x - 11y = -26 12x - 7y = -13

Sic 17 Sic 17



All of these straight lines All of these straight lines

meet at one point. meet at one point.
What are its coordinates? What are its coordinates?
5x - 12y = -107 3x - ey = -33
22x + 19y = 319 2x + 13y = 97
7x + 7y = 112 28x + 1ley = 196
28x - 16y = -36 18x - 14y = -44
23x + 22y = 127 -13x + 8y = 17
-11x - 17y = -242 -27x - 24y = -249
5x + 8y = 63 -3x + 16y = 103
12x - 11y = -61 20x - 7y = 11
sic 17 SlC 17

All of these m._.w.Qmm_,.._. lines All of these m._._\.D@T._. lines

meet at one point. meet at one point.
What are its coordinates? What are its coordinates?
-3x - 18y = -99 -3x - 3y = -6
17x + 20y = 69 6x + 17y = 67
14x + 20y = 78 21x + 6y = -33
30x - 29y = -264 2x - 23y = -121
20x + 6y = 96 -18x + 10y = 104
-13x - 23y = -99 -ll6x - 16y = -32

-2x + 24y = 150 S5x + 9y = 60
12x - 6y = -72 28x - 5y = -109

Sic 17 Sic 17



All of these straight lines All of these straight lines

meet at one point. meet at one point.
What are its coordinates? What are its coordinates?
3x - 14y = -89 -3Xx - S5y = -21
17x + 18y = 177 7x + 11y = 45
29x + 24y = 255 22x + 13y = 12
4x - 29y = -191 23x - 5y = -99
23x + 30y = 141 5x + 20y = 135
6x - 21y = -165 23x - 23y = -89
S5x + 17y = 104 3x + 24y = 153
25x - 7y = 26 15x - 6y = -81

Sic 17 Slc 17



